4.2 PRACTICE
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Mark the picture. Answer the question. Prove it.

13. _
Given: LTWX = .VWX ]
TW = WV
Prove: AXWV = AXWT r ¥
WHY ARE THE TWO TRIANGLES CONGRUENT? SAS
STATEMENTS REASONS
1. £4.TWX = 2LVWX
TW = WV 1. Given
2. WX = WX 2. Reflexive Property
3. AXWV = AXWT 3. SAS

Mark the picture. Answer the question. Prove it.

14,
Given: ST = §J 7
JR=TR

Prove: ARST = ARS]

WHY ARE THE TWO TRIANGLES CONGRUENT? SSS

STATEMENTS REASONS
1.ST=SJ]
JR=TR 1. Given
2. SR = SR 2. Reflexive Property
3. ARST = ARS] 3. SSS




